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Multiple Choices
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12

Ans

' 1
Q. No: 1 Value of the integral J(ﬁ +t)% (2t +1dr is equal to
0

()22 (b)) 3 (c) 2 (d) None of these
Q. No: 2 The average value of the function f (x)=4x*-3x*on the interval [0,1] is
(a) 1 (b) -1 (cj O (d) None of these
Q. No: 3 Ifthe number c satisfies the conclusion of the Mean Value theorem for the

function 7 (x)=x’on the interval [0,1] then c is equal to
(a) /\ﬁ (b) —/\/g (c) 7\5 (d) None of these

Q.No:4  Let F(x)= jﬂsintdt , then F'(x) is equal to
0

(a) 2x7sinx?* (b) 2x"cosx? -(c) 2x"sinx (d) None of these
Q.No:5 Lim1+2+3t """ s equal to
- n
1 1 2
(a) > (b) " (g = (d) None of these

Q.No:6  Value of the integral [sec’x tanxdx is equal to

(a) %seczx +c¢ (b) sec’x +¢  (c) secx +¢  (d) None of these

Q.No:7  Thevalue of the derivative of f(x)=In(2+x)+e* at x =0 is

(a) % (b) % © 1 (d) None of these

Q.No: 8  cosh(0) is equal to

(a) 1 (b) 2 (c) O (d) None of these




Q.No:9 Iff(x)=tan"'(sinhx) then f'(x) is equa to

_coshx ) _¢OhX () coshx  (d) None of these
l1+sinh® x l1—sinh” x

(a)
Q.No: 10 If1=log:’ then x isequal to

(a) 2,-2 (b) 1,-1 (c) 4 (d) None of these
Q. No: 11 The norm of the partition P ={0,0.3,0.8,1} is

(a) 0.5 (b) 0.3 (c) 0.2 (d) None of these

Q.No: 12 For the partition P :{xo,xl,...,xﬂ} of [0,2] andw, €[x,_,x, ], the limit

limiUE . +1)Axk = the definite integral

k=1

(a) j\/ﬁdx (b) 2jmdx (c) f[\/zx +1dx  (d) None of these

Full Question

|
. . . 1 .
Question No: 13 Use the Simpson’s rule to approximate Jﬁdx dx with n=4, [4]
JAl+x?



* Question No: 14  Evaluate the integral j L dx. [3]

3
Question No:15 Evaluate the integral j“‘fj—T‘;dx [4]
RN



e

- : 3/..2
if _\/sm)m/x +tanx

Question NO: 16 Find y' if y = [4]

3/In }cosx }

Question No: 17 Find limo(cosx)XI if it exists. [3]



